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Time : 3 Hours Marks : 160
Instructions :

(i)  Each question carries one mark.
©8 BH% 8 Sy, o,

(ii) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1,2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.
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MATHEMATICS
1. The domain of the function f(x)=./logq s x!
J(x)=\floggs x! e @Hoown @desn
) {0,1.2,3,.) @ (1.23.) 3% @ {1

If £ (x) = [x—1] + |x=2| + |x-3], 2<x<3, then fis

(1) an onto function but not one-one

(2) one-one function but not onto

(3) abijection

(4) neither onc-one nor onto

S @) = =1+ [x=2] +{x=3], 2<x<3 wond, oiyd [
(1) 8 Sois Gibahin, 579 odEsn
(2) o Bdgs @Sochin, 5 doyigsn s
(3) 28 By BIocBn

(4) wBgEsn 5, Sogigsn

o

Rough Work
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3,  The greatest positive integer which divides (n+16) (#+17) (n+18) (n+19), for all posit
integers . is
i) GSFgoses noss, (1416) (1+17) (1+18) (1+19) & whod KOH & o8
fh 6 (2) 24 3) 28 4) 20
a b ¢
4. Ifa, b, care distinet positive real numbers, then the value of the determinant (b ¢«
c a b
a b
a, b, c oo DHF) 65 THS Sowgoond, [b ¢ a| IGEEBN g, dwod
c a b
W <0 2 >0 3) 0 @ 20
5, 5, 3 are in geomelric progression with the same common ra
3) are
(1) vertices of an equilateral triangle
(2) vertices of aright angled triangle
(3) vertices of a rightangled isosceles triangle
(43 collincar
X|2 Xg, X3 308680 fijs . vy oo 28 STSFdo Ko He@ddoes wand, (x), ), (2.,
(x3,y3) Dodoges
(1) s@epdodme sgsne
(2) oo» S'e @b B8S0s
B) vouss sHbge @b S
(4) &ohosren
Rough Work
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6. Theequations x-y+2z=4
3x+y+4z=6
x+y+z=1have
¢+) unique solution (2) infinitely many solutions
(3) nosolution (4) twosolutions
x-y+2z=4
3x+y+4z=6
X+ y+z=1 5Dogsmsne

(1) 938 365 sotnod (2) 308 FESevoiron

(3) >E8 wod (4) Do FEdenoiron
7. Thelocus of the point representing the complex number z for which

2

|z+37|z-3f=15is

(1) acircle (2) aparabola

(3) astraight line (4) anellipse

[z+3[ |z -3 =15 wdlogtsty, Bobg Sowg 2 s SrD0DB Dockvp A, Dot B0

(1) 28 S50 (2) @8 Sodocho

(3) o 368 (@) o by, Sydo

(IJ”-)ZO]G -
8, e

(1) -2i @) 2 @) 2 “ -2
Rough Work
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9. If|z|=L|z|=2.|z5|=3 and 92 z; + 4z, 23 + 2, z5|=12, then the value of |2 + 2, + ;| is
[a|=Llza|=2.|z5|=3 S0as0 (922, +42 23+ 25 23] =12 woxd, [z+2;+2| B0,
dend
a 3 2) 4 3) 8 @ 2
10. If1,2), 2y, ..., 2,,_, are the " roots of unity, then (1-z,) (1-z,) ... (1=, ) =
Lz 2, @0 D8I Qg 1S Sreroand, (1-2)) (1-2) o (17, =
1 o 2) n-1 (3) n @1
3x2-2
1112427 =(243) 7 thenx =
2 3x2-2
12427 ~(243) 7 wowd, iyl x 2
13 14 12 5
+ = 14 EN = + )=
(1) 2 ) 3) I ) \/;
12, The product and sum of the roots of the equation |.\-2| ~ 5|x| — 24 = 0 are respectively
\Jg| — 5[x| — 24 =0 e HDEGBN B0, BaroSne vgﬁn Bo00%0 Bongdn SEBM
(1) -64,0 (2) 24,5 (3, 5-24 “4) 0,72
13. Thenumber of real roots of the equation x° -+ 3x> + dx + 30 = 0 is
%4327 + dx +30 = 0 0 SDEGTDS Ko THS Swrere Sowg
M 1 @ 2 3) 3 @ 3
Rough Work
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Exam Pattern

Subjects: The exam pattern was based on three subjects i.e. chemistry, physics & mathematics.

Type: There was objective type questions.

For each question, four options was given candidates have to mark the right one only.

Candidates are required to use only blue/black ball point pen.

Mode: The exam was organized in Online mode (computer based test).

Duration: The examination was of three hours.

Total Questions: The question paper was contain total 160 questions.

Marking Scheme: One mark was given for correct answer.

-ve Marking: There was no negative marking for wrong answer.
